MEEANSETAIDFEBHEENESE
S8R E (TEEMR  REFREAEE L)

it i E S X it i L
FOM $1.000[EEO% $50,000
BO®E $26,000|22O% $30,000
B=O $6.000)E O $500
BIOKE $6,000[H:O%E $1,000
BROZAL $5.000) 8 OBH $100
EOE $100,000|8 O E $100
ROFE $25,000| it O $100
O/ $100,000[FRCO $150
BOE $100,000|22OFH $100
BOZE $5.000)#H O $1,000
HOH $1,000|F O $250
edbrihaeE $1,000,000{FFOLL $100
g B S N ] $20,000[FE O $100
TFENSF $200,000| 52O $10,000
BOT $5.000)E=O4= $1,000
BIOF $5.000)0O $1,000
FHOrtE $200[FROHT $10,000
BOH $20,000|#2 Ol $500
FOF $500[ = O $1,000
= O $2,0001Z20 $1,000
FO $10,000[Z£O $1,000
SO $3,000[Z£O $1,000
AEOZE $2,000) B O $100
EEOME D $300[FR O $100
TOk $5.000) Ok $150
TOE $3.000) B O % $150
=A@L $1,000| B O $150
RO $50,000 B Ot $250
=0% T $921,867[FROH $100
HOZY $500[BRO e $100
ZOE $1,000| 52 OF $100
EHOFE $10,000 O it $100
iTOF5 $4.,000] i O=L $100
FOEE $10,000|14CO% $100
=O®R $5,000{50O%h $100
RO H 4 $6,000] % Of# $100
HOHKL $1,500( % O $100
sTORE $3,000|8 OF $100
Z0 $200[Z2OFEH $2,000
RO $200| EOZF $100
SO $1,000)FEO% $100
RO $1,000| O $100
BROZR $1,000{FEOIL $100
EOIlE $2,600|BEOF $100
BOH $1,300{FEO1E $100
HOZ $20,000[FEOF $100
£Z0H $1,000]BEOF $100
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BROFER $5.000)FEO% $100
HOZ $300[&k O1E $5,000
= O35 $10,000]BR O %k $1,000
RO®= $3.000| 5O $5,000
BOM $26,000|5OFE $5,000
FEOFE $1,000)1220%j $3,000
EOF, $10,000[=OUCHD $3,200
BXOZ $10,000{f[O%X $10,000
RO $10,000|5F O & $280,000
HOF $2,000[EF O #R4x $23,000
s OHED $5.000) % O#F $500
BO% $1.000[FROHA $1,000
BOZ $20,000| PO $2,000
BO= $50,000|F O .k $5,000
BO# $10,000|#H OAFE $5,000
BOZ= $100,000|FFO&H $5,000
BEOW $30,000|{E O $10,000
=0% T $200[BROF $50,000
ZO%E $1,000| 5 O SCf& $1,000
—0O% T $10,000|ZIOBAEED) $20,000
BEOX $3.000)#H OFE $5,000
BOME $5,000[#OE 5 $400
RO $1.000[FROfE $10,000
PROH $20,000|#£O%0 $10,000
20% $1.000[Z1ORK $20,000
ENOE $200[E=OF $150
FHO3 $1,000[FROF5 $500
ZIOE $1,000|12FO1= $200
BROT $500[BBO - $2,000
BOERAE $8.000{5OF $2,000
FHOF $1.000|FEESF $5,000
PROIELE $1.000[E OHH $20,000
BOFE $3,000[HEO #E 4% $10,000
=0%F $1,000{ = O $10,000
=0%F $10,000{ =0+ $10,000
=0%F $10,000[3#O $100,000
=OA $500|E= O $10,000
AEOE $500| = O35 $1,000
AEOZE $2,000|FH O ) $1,000
EAOLEES $100[FROF5 B, $5,000
ZOR $100[# OILEHD $5.000
ZOR $100 38 OPKE (HD $5.000
g OR¥ $200,000{FR O $2,000
BO#E $2,000[FOHE $5,000
BO&E $1,200[ OB $5,000
FRO®E $200[#5 O $5,000
EHOH $200[fA O F(#D) $10,000
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= O $300[EEOH $200,000
O $100[FLO# $1,000
FORE $100[5FOK7 $1,000
fi OF $100| RO $1,000
fiti OF $200[=O %+ $3,000
£0% $10,000)3O % $1,000
BROf $1.800{52OF= $1,000
fi OIE $100);&O $1,000
fitt O3L $100[5FORR $1,000
LO= $100[ETOEZE $1,000
LO= $200[HEOM $1,000
IO $100|FR Oy $2,000
O $100| O $3,000
g O $100) 8 OFf $2,000
g O $100|ZF O $1,000
g OB $100FR Otk $3,000
2OZ $100[HEO% $1,000
=HON $200[FR OB $3,000
MO $100[BRO e $2,000
REEBH SR T AR A H] $40,000| s O $2,000
EAOLEES $100[= Ok $600
O $6.,000| 2O & $600
O $1.000[FOPY $10,000
BEOH $1,200[22 0% $1,000
PROBT $1,000| &£ Ot $1,000
g OB $100[F1O#h $1,000
2O= $100[E O $3,000
GBI $12,000[HEOHE $600
ERM T $3,255|F O $600
BROFT $500] O $6,000
BOE $30,000] & O $500
BOZE $100,000[zx O $100,000
i OF $1,000]% O% $500
O $1,000)% OfH $500
e Of $1,000) 8 O $500
Ot $1,000[FEO L $100,000
e Oz $2,000[F1OFk $20,000
FHO% $2,000| O $10,000
BO&E $200,000[FH O+ $2,000
FOKER $21,000|145 Ol $2,000
BROE $2,000[#O%k $500
wOZ $1,000) &£ Ol $500
=OE $1,000[Z£OFY $2,000
i O4F $1.000|=mOFE $500
FO= $1,000|122 O $1,000
BO $500,000{Z£OFE $1,000
BO=E $500,000{Z£OJ5 $2,000
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=OH $3.000[=0OF $1,500
TOEE $10,00050O % $1,500
FO%E $5.000) A O $2,300
ROZE $5.000)E=OZK $2,100
FH Ok $100[EBOPE $2,100
PROEER $1.000{52 O $1,000
BORE $3.000[=OF $500
FO¥ $1.200[FE O $1,000
TO $600[EFOEL $2,300
BOH $1,000{#8 O+ $1,000
= O4n $5,000{#FO1E $4,000
AOFEH $5.000|2 0% $2,000
AE OBV $60,000|#O4= $500
HOHE $600| =05+ $26,000
O $600[ O 4= $100,000
BO#E $100,000| O $1,000
O $20,000[EEOEF ({0) $100.,000
EHOJR $1.000{EFOF $3,000
POHE $1,000| E=OF% $10,000
BEOM $100,000|5O% $20,000
BO%E $100.000{i=OFD $10,000
=OfE $1.000{gFO= $2,000
O $100,000] £ OHE $2,000
BO# $2,000|ZF Ok $5,000
g O $1,000) 5O $500
PRORL $1,000{ FO7K $2,500
HOH $1.000[=O& $5,000
HEORE $100,000[FEOF $2,000
EO#ED $100,000)O%F $1,000
POMS $1,000) & OBHF $100
O $2,000|8 O E $100
MO% $1,000]#%0 $1,200
O TAL $1.000)B OF& $400
MO $1,000|= O $400
BOT $3,000) = O%tE $600
EHOE $1.000)HE O $200
O $1,000|ZFOE $200
ROER $10,000| i O $100
BOE $500[FEE O $10.104
FOM $600| T"O1= $600
HOE $250#%F O F:A% $50,000
BROFX $2,000[HEO4T $1,200
O $1,000{FEOF $150
MO $2,000|FORER $3,000
OB $2,000| =08 $200
PO $2,000[2£OFH $100
B0 $2.000[FH O $1,000
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BO%E $500[F O $250
BOH $600|EOE $1,200
BHORE $250[FR Ol $100
RO $1.000[FE O $100
RO $2,000{FOEZL $10,000
FO= $1,000|8£OF $5,000
FOBR $1,000)BEOZL $1,000
SORB $1.000[EEOF $5,000
O $1,000[EE Ok $10,000
#HOF $5.000) A Ot $1,000
=0%F $1,000|#EOH $5,000
RO $600[ZFOfE $100
BOT5 $500]| 52O $10,000
{a] O $1,000[tOEH $5.000
O $5.000)BECO40 $1,000
BOFFE $5.000|E=OFE $3.000
B=O $5.,000) O Bt $1,000
HORE $30,000|#FO & $2,000
BO $10,000| Fz O $1,000
= O% $10,000|#ROf= $2,000
BOE $20,000[F5O%E $600
BEOR $10,000[JFO 82 $900
PO $1,000)#H O $500
HROZ= $10,000[ S OF il $100,000
RO $10,000)BR Ot $2,000
BIOHB $1,000]BEO $1,000
BOZ $30,000/B O $1,000
SO $5.000|ER O $1,000
sHORH $2,50075 0= $5,000
O $2,500|BR O &5 $300
O $5,000{F=OE. $1,000
FO® $5,000[AEO %) $2,000
FOLE $1,000{FO% $10,000
sTOFx $5.000) B O $100
BROE $2,000[FR OFk $100
f O $2,500{EOHE $150
H=O $2,100) B O % $150
LZOZE $1,100| B O $150
EHOT $500[BR Ot $250
BEOEA D $10,000{FROH $100
BOZE@E) $100,000FR O%je $100
EOR $10,000| 52 OF $100
BOER $10,000 O it $100
BROZR $5.000) 1 O=L $100
=0% T $1.000)4&2 O $100
PROE $10,000| 68O &) $100
WO $5.000] % Of# $100




MEEANSETRAIDFEHEENESE
S8R E (TEERR : REFREARE L)

it i E S X it THR A
O $10,000| & O $100
FOWM $1,000|8 OF $100
BEO% $10,000{F=O&E $7,500
HOH $1.000{EO=F $100
BROFT $500[FE O $100
ZO1 $500[HOE $500
FOZ $500|FO%] $500
@S $1.000[H:O>Z $600
OB $10,000| £O=E $100
BOEE $3,000]BEOIX $100
FORE $5.000|BEOF $100
=OH $50[FR Ot $100
BOH! $26,000[i= O $400
£O% $1.000{HRO% $200
BO# $2,000{ 5 OFE $2,500
BRO#A $1.000[FEOF $100
FOE $500[FROF $100
PROZE $10,000)F=O% $100
O $10,000|FEOfE $1,000
PROME $10,000FE O $1,000
BROE $10,000|/HOH $1,000
RO $10,000/B O $7,500
EHOR $2,500| PO $2,000
BO# $50,000|#E OF $2,000
ROFEE $5,000{#AO # i $2,000
TOHE $5.000(#RO*~ $2,000
KOE $5,000{#kOFE $2,000
BO5h $50,000[#RO#F $2,000
BRO B $25,000FEOH $600
O $100,000[HEOFF $600
FRORE $10,000/EO B0 $200,000
HOE $2,000{ =0~ $100
RO $5,000[ O $20,000
FOE $20,000{FROFT $500
HIORE, $10,000|#OZ $500
PRO5% $10,000|12FOf= $200
MO $3,000) 5O $500
IO A $3,000[FROF5EE $1,000
B O $5.000] B O $1,000
FROE $5.000)£O%F $1,000
RO $10,000] & OB $100
E O $2,000|8OE $100
EHOEHD $16,100|21O % $1,500
HIORK $3.000)B OF& $200
HOZR $1.000{= OF $200
=0% T $600[= O $300
=OH $150,000)iHOFf $100
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ROFEE $5.000{ZOHE $100
=O% $2,500it O $100
=0O% T $10,000| 5= OF- $50
=OA $8,100|FROfZ $1,800
AEOZE $2,000)BE O $150
EAOLEES $200)| EO5 $100
ZOR $200/2£0O4 $100
RO $200|H O $1,000
= O $200(21ORk $20,000
e OFfE $300[FR Ol $600
AEOFE $100[HE O $600
ZOH $100[#RO e $1,000
fi OF $200|FO1E $100
BROZR $10,000|#RO %k $1,000
RO $5.000#OH $300
TOZEZE $1.200)¥O%E $10,000
O3 $1.200[EEOBK $3,000
HOLL $600[ETOTF $1,000
PROE $300|FHO%E $1,500
T O $100[BROE $100
O $2,000[FROBK $100
s O $2,000) Ok $150
BIOFHe $5.000) B O % $150
ZFOfR $1,000)BE O $150
HOF5 R, $10,000) s O #5 $100
#FO%m $1,000) B O3 $100
TOHk $300| 2 OF $100
PROZE $300[HEOTE $100
BROZZ $300[EOL $100
fitt O 1 $200|4&C O=F $100
fitt O3L $200|BO%f $100
LO= $200[ & O $100
O $200[ 2 OB $100
g O $200[ 2 OF $100
g OB $200[fT O $1,000
2O= $200| EOZF $600
=0% T $47,000|F= O $600
=HON $200| EO= $600
MO $100[FROIX $600
BROFT $500[FROF $600
BROZ M $3,000) B Ofg $600
HOR $10,000{F1OF $600
BO $10,000)BR Ot $600
PROFEE $500[/EH O $1,500
BROS $400|= O $200
PROH $10,000[#RO% $100
FO% $3.000FEOF $600
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AOm $1,000|BEOF $600
MO $5.000)FEO% $600
MHOE $15,000) B O $1,000
FOEE $10,000|F O $250
FOBR $1,100|BR Ot $250
O $2,000) Ot $1,600
=0%F $10,000)4EO R $1,000
=O% $10,000[ OB $6,000
EE O $14,800| 5= O $500
N $1,000,000{ 5= O $5,000
HAHR AL $56,000|FO% $3,000
MHOIE $3.000| £OF $1,000
ZOR $1,500)3 O $1,000
FOZ $300[ 2O $500
BROMW $500|F OF5 8L $3,000
i O $1,000|FO% $5.000
BIOE $50,000|E= O $10,000
FO¥ $50,000)FO%E $25,000
FOM $1,000[#FOE $10,000
OER $10,000) O£ $2,000
EHOLE $1.000{= OO $5,600
HOH $1,000{ = O $7,200
AEOE $1.000[FH O ) $1,000
=OA $500[¥EO & $10,000
g ONa $600[ &= OB $4.,000
HEORL $600|FE O $4,000
HEOFE $1,000| O $15,000
EAOLEES $100[FOF= $5.000
ZOR $100[ 52 Offg $3,000
FRO®E $400[ = Offg $3,000
O $400| AL OB $2,500
e OFfE $600|BHOI $5.000
AEOFE $200[5FOH $2,000
ZFOH $200 R OPK $5,000
fi O $100)ECO $1,200
FOLT $200) = O $10,000
BROE $150[FR O $600
O $200[FHOF $5,000
O $1,000|5E O $10,000
E=ORY $5.000{=O% $1,000
£0OZ ) $3,000[5ROE. $1,000
s OHED $5.000)5RO&E $1,000
BO%E $1,200)5=OHE $1,000
=0% $600[BBO LTk $1,000
s2OFE $600| EOFEE $2,000
#O $600|E= O $10,000
PROF $5,000[&#H OfE $10,000
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PRORL $2,000[FH O $10,000
£0 $200|5=OH $2,500
H O $1,000| OBk $25,000
FOE $250| &5 LB S TRE A IR A H] $3,000
FO# $50,000[F=OF- $100
G OPF $600|5OFEE $2,000
BROE $200&k OFE $5,000
BRORL $200[21O T $1,000
FOHL $150[Z£O%) $4,000
BROZE $150F OHA $1,000
BROZ $150| 8k O% $100,000
BROH $250[FO= $5.000
BROA $200[BR OFE $5.000
PRO3hE $200[FRO/I $5,000
FOF $200[FEO $5,000
fiti O $100|EO RS $100,000
fitt O>L $100[21ORK $20,000
LO= $100[ O $2,000
O $100[/5OfF $1,000
g O $100[ O $2,000
g OB $100[F=OX $500
qOE $100[}OF $1,000
=HON $400[ & O 5% $100
MO $200[ O E $100
HOH $5.000) B OF& $200
(@)L $5.000| =5 OF& $200
s OfE $5.000)HE O $100
#O $2,000|ZFO%E $100
0% $3.,000fit O A1 $100
EROE $6,000| EOZFEE $1,200
FIO%L $10,000| R O $150
HOEE $6,000| O $100
s O $500/2£O4 $100
MO $16,000|FHO2% $1,000
FOT $18,000[ZFO=E $250
HO# $16,000[HOFFE $2,000
BROFT $500[ZFOfE $100
g OFd $1.000[&x OB $1,000
sTOH $35,000|5O* $300
FOM $1.000{tOfF $10,000
SOB $20,000| O FI5 $4,000
HOH $10,000| B O $100
HO $1,000[FR OFk $100
SO $10,000{ £ Ok $150
FO7 $10,000)f O % $150
EOKH $10,000| B OZ $150
T O $2,000]BE Ot $250
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BOH $200,000{FR O 5 $100
BROAT $10,000[BROE $100
E2O)=) $100,000| 52 OF $100
BROFE $10,000 O it $100
ROEL $10,000[}tEO>L $100
NOES $1,000{4&CO=F $100
=OA6 $1,000{50CO %) $100
F O $2,000] % Of# $100
TOE $3,000) % Of $100
RO $5.000| 8 OF $100
GO $5.000|F Ok $1,000
MOEE $1.000[ZEOHD $1,000
RO $3,000|E O $200
FOEE $10,000[#RO% $100
FO=E $10,000[FROF5 $500
ROFEE $5,000[FR O F5 $500
BORE $2,500[5 O $1,000
OS5 $10,000|FHOTE $10,000
= OfIE $10,000[BROEE $10,000
s O4i $5.000EEOF $10,000
PROE $1,000|5F O $1,000
PO $5.000|5FOF& $5,000
E O $6,700| =0+ $5.000
RO $5.000)EO%E $500
PO $1,000| 21Ok $500
O/ $20,000|FEHETESF $20,000
EOZH $2,000|H# O#E $5,000
HOREEAE $10,000) = O $5.000
FROLACLY) $20,000[ER O $5,000
= OB E O $10,000[Z20O % $1,000
PRO % $1.,200(FBOHH $1,000
BROT $2,000) %k O i $1,000
BROB $1.100(5OE $1,000
PO $1,000) = O%E $5,000
PROIE $20,000|1#FOZH $2,000
RO%E $5,000|E OFK $1,000
HOFET $200,000| P OFE $1,000
HOL $100,000{OEL $20,000
ZOH $100,000[FE O $100,000
HOE $100,000:5+5 47 240 (5db) $100.,000
FHORE $5.000)E O $500
SOt $2,500[FROZE $1,000
EOES $5,000{FEO= $1,000
RO $3,000);£O%F $1,000
TOR $500[ & ORA 5% $100
w=OR $500[ O E $100
PRO 8L $1.000)B O $200
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BEEOT $1,000| = O $200
RO $1,100)E O $100
BRO ] $1.000{ZOHE $100
O $200%i OF $100
BOE $1.010|BR O $150
BOE $1,010| O $100
BOZ= $1.010[2£OFH $100
BO®E $1,300|#H O $1,000
BOE $1.300[ZF O $250
BOZE $1.400[Z1OBK $14,000
BROBY $100,000| O $100
BHOE R $1,200)5£ O $300
=OA $500[E OBE $10,000
HEOFE $1.000[FRO%E $1,000
EAOLEES $100[BROH $100
ZOR $100F Ok $100
FRO®E $200[ EOHk $150
S O $200[FRO%E $150
e OFfE $300[BROZ $150
AEOFE $100[BR O $250
FO¥RE $100[FROFH $100
fite OF $100[BRO e $100
MO $1,000| 52 OF $100
FHOLL $600[HEOIE $100
BROE $150[HEOL $100
T O $100[s0O= $100
Z0OH $100|BO%h $100
H O $1,000) % Of# $100
ZFOHE $500[ 2 OB $100
ZIORL $20,000| 8 OZ% $100
BIORL $20,000[i= O $200
ZIORL $20,000[#RO $100
EEOBBED $10,000{22O%) $10,000
JHOH $10,000{ZO $10,000
ROE $600| 2 OF $1,000
i O JL e $4.000| &= OF- $70
PROLL $100| 5 O Rl $37,000
FEOH $100[ P OfEHk $6,000
FHOM# $3.000) 8Ok $2,000
FOH $200[z=OF $60
BROH $100[t5 Ot $1,000
BRORL $100[7R Otk $2,000
TOHk $150[FEORKL $600
PROZE $150[#F O FAZ $20,000
PROZ $150|%F 0O $10,000
BROH $500[#EOW $500
BROFH $100[ 2 Offg $200
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RO $100[FROE $200
FOH $100[FEOE $200
fi OIE $100[#E O $200
fitt O3L $100|EO3E $200
LO= $100[ 5= Offi $5.000
O $100[FEOZ& $5.000
GO $100[F=OX $500
O $100[#OZF $1,000
gOE $100) 4 OB $100
PROJE $1.000|EOF $100
TOF $100[FROF $200
FEOF $100| = O $200
TOFE $100[HEOFE $100
BROZL $100[ZFOHE $100
BROE $100]Jit OF $100
BROTE $100[BROF $150
= O $200| EOH $100
MO $100/2£0O4 $100
O $100|H O $1,000
BROE $100[F O $250
E0) $100|ZFO1E $100
ke THEAT $50,000|5 O $300
BIORL $20.000| it O4E $10,000
s O $200[BR O $100
EO% $500F Ok $100
BOH $200[ EOHk $150
PRO% $6.000) s O % $150
BOE $10,000|BROZ $150
ROk $2,000]BE Ot $250
sOZRR $10,000) s O #5 $100
ZIOH $500[BR O $100
RO $10,000{ 52 OF $100
RO $500[HEOTE $100
ROZE $300[HEOL $100
HEOBH $300[s0O= $100
HEOHH $300[BBO %) $100
O $300[ & O $100
BROFT $500[ 2 OB $100
FOM $1,000|8 OF $100
ROZ $1,000|5 O $200
HOtE $4.000[ARO $100
BOLE $2,000{£OfE: $200
=0l $2,000[EE O $1,200
s ORE $2,000[FR O 77 $500
=O1E $2,000[FROF5 $500
=OE $2,000|12FO1= $200
BROZR $1,000]12O1= $200
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BROBE $1,200|&£O1E $5,000
BROZ $1,200|FOfE $900
HO $1,000|E=OF. $60
FOE $2,000[ O $20,000
P A (i) $50,000[= OURHD $8.900
FO% $5,000[F= O $10,000
=OR $5.000| &t O =D $1,000
ROFEE $5.000[FH O ) $1,000
BIOHB $1,000| B OFZ B $5,000
PRO $5.000) B OF5 B $10,000
B O $5.000) B OF5 B $10,000
BOH $200,000{ 5z O $800
HOWR $5.000FEOE $300
FOE $100,000) 1 O#2 $800
RO L $5.000)# O $300
HRO2 $5.000[FROFk = $5,000
ROZ $10,000|#O%F $5,000
HRO1E $10,000|21OF $1,000
s OH $10,000[#AOEE $10,000
=0/ $5.000{EFOHE $3,500
SO $2,000|Z O T $1,700
RO $5,000{5O $2,000
O $10,000)#Ott $10,000
£ZO% $1.000[EF O F $2,000
=O#) $10,000| = O $5,000
FOZL $10,000{52O $3,000
PRO 8L $5.000]#H# O=L $2,000
RO $5,000|%5O%F $10,000
EHOR $5.000) %Oz $5.000
PROFS $5.000{Z£O % $20,000
H O (D) $1.000[z=ORE $1,200
FOEZL $10,000| EOk $50,000
PROZE@#HD $100,000| FOFEE $2,000
BOAR $10,000[BROZK $5,000
PROF B, $2,000| =O %+ $1,300
TOEE $2,000)5Z2 O\ $5.000
RO $1,000)O=L $600
=0% T $500[ 5O $500
EEOME D) $300| HOEE $10,000
LOE $10,000|FFOH $3,500
F Ok $1,000|ZFOE $3,000
O+t $400|EOF $1,700
BOZ= $1.000{EO) 11 $1,700
O $200,000|E8O1F $1,700
EOFK $50,000{%FO H $1,700
EXO%E $10,000|{FFORE $1,500
s O $10,000| &5 B EEER TAZ A TR/ ] $2,000
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£0 $100|EEA#E (S5 THEA IR/ H] $10,000
H O $1.000[£5OH $3,000
ZFOHE $250[#EOF5 B, $10,000
ZOfE $100[FEOZ& $500
RO¥% $300[AROZF $1,000
BROH $100[RO% $200
BROBY $100[ = OM $200
TOHk $150|ZE [ E AR ] $5,000
PROZE $150) TO $850
BROZ $150[F=OX $500
RO $250[}OF $1,000
BROFH $100[ & OB $100
RO $100[ O E $100
FOH $100[FROFE $200
i OTE $100| = O $200
fitt O>L $100[HEOFE $100
LO= $100[ZFOHE $100
O $100[ ORI $100
g O $100[BROF $150
O $100| EOH $100
qOE $100|PROFE $1,000
= O $200[5FOKE $16,000
MO $100[RO & $1,000

/et $10,399,152 /et $3,504,594

=1 $13,903,746




